Efficiency vs P,

+0.05
o
9.045
>
20.04
o
.035
0]

0.03
0.025

0.02
0.015 : ; :
o.o1—----+----g ------------ oo R
0.005f ----wvsnmmieemennnnnes P RRRREE e

1.0

Ratio

o
©
a

=
o
iN

1 10 . Gedf’

—s=— DQM_V0001_R000000001__Global__mkFit100Timeo_ RECO
—— DQM_V0001_R000000001__Global__mkFit100Time__RECO

= 0.1
4
Z0.09
$0.08
(8]
£0.07
©
0.06
0.05]
0.04
0.03
0.02
0.0
Vel

...........................................

....................................

Ratio

[y

o
©
a

rrrrrrrrrrrm
S
(@]
=
N
w

TP N

Efficiency vs ¢

£0.05
0
2.045
2
$0.04
(5]
$.035
(9]

0.03

............................................

e L RN RN BN R RN LR

0.0258 -t - 4=+ il H
0.02E1- 1L 1T
0.015} -] 1
0.005f% ----- -]

||'-|||

TP @



	Contents
	Page 1


